
Install hanging file rods for legal
sizes filing in the manner depicted.

Install hanging file rods 
for legal sizes filing in 
the manner depicted

D

D

Assembly Instructions

Under Desk Pedestal
69603/69604, 69605/69606, 69985/69986, 69558/69559

IMPORTANT NOTE:
• Place all laminated parts on a clean and smooth surface such as a rug or carpet to avoid the parts from being scratched.
• Check to make sure that you have all parts and hardware.
• Remove all wrapping materials, including staples and packaging straps before your start to assemble.
• Do not tighten all screws/bolts until pieces are completely assembled.
• Keep all hardware parts out of children’s reach.
• It is recommended 2 persons to complete the assembly.

69603/69604/69985/69558/18220
69605/69606/69986/69559/18221

STEP 2

STEP 1

C B

A

Screw M6*40 4PCS

Screw M6*40 4PCS

69603/69604/69985
69558/18220
COMPLETED
ASSEMBLY

69605/69606/69986
69559/18221
COMPLETED
ASSEMBLY

3 Sets 2 Pcs 1 Pcs 4 Pcs 1 Set 4 Sets
2 Sets 4 Pcs 2 Pcs 4 Pcs 1 Set 4 Sets

Metal Bar 
300 x 16 x 3mm KeysAdjustable Glide

96mm Metal Scallop 
Shape Handle File Clip

Screw M6*40
+ Washer

18220/18221



Installer les baguettes pour fichiers 
suspendus pour les fichiers de taille 
légale comme sur l'illustration.

Vis M6*40 4PCS

Vis M6*40 4PCS

69603/69604/69985
69558/18220
ASSEMBLAGE
COMPLÉTÉ

69605/69606/69986
69559/18221
ASSEMBLAGE
COMPLÉTÉ

Installer les baguettes pour fichiers suspendus 
pour les fichiers de taille légale comme 
sur l'illustration

D

D

Instructions d’assemblage

Caisson se logeant sous bureau
69603/69604, 69605/69606, 69985/69986, 69558/69559

18220/18221

NOTE IMPORTANT:
• Déposez toutes les pièces laminées sur une surface propre et douce comme sur une carpette ou un tapis afin d’éviter l’éraflure des pièces.
• Vérifiez pour vous assurer que vous avez toutes les pièces et toute la quincaillerie.
• Enlevez tout le matériel d’emballage, incluant les agrafes et les courroies d’empaquetage avant de débuter l’assemblage.
• Ne serrez pas aucun des boulons/vis avant d’avoir assemblé toutes les pièces.
• Gardez toutes les pièces de quincaillerie hors de portée des enfants.
• Il est recommandé que le montage soit réalisé par 2 personnes.

ÉTAPE 2

ÉTAPE 1

C B

A

69603/69604/69985/69558/18220
69605/69606/69986/69559/18221

3 ensembles           2 mcx           1 mc           4 mcx              1 ensemble                4 jeux
2 ensembles           4 mcx           2 mcx           4 mcx              1 ensemble                4 jeux

Barre de métal 
300 x 16 x 3mm ClésVérin de calage

Poignée métallique 
de 96mm en forme 

de coquille Attache de dossier
Vis M6*40
+ Rondelle



Instale las varillas de archivo 
para tamaño oficio como 
se indica.

Tornillo M6*40 4PCS

Tornillo M6*40 4PCS

69603/69604/69985
69558/18220
ENSAMBLE
COMPLETO

69605/69606/69986
69559/18221
ENSAMBLE
COMPLETO

Instale las varillas de archivo 
para tamaño oficio como 
se indica.

D

D

Instrucciones de ensamble

Archivero Pedestal
69603/69604, 69605/69606, 69985/69986, 69558/69559

NOTA IMPORTANTE:
• Coloque todas las partes laminadas sobre una superficie limpia y uniforme (como un tapete o la alfombra) para evitar que se rayen.
• Asegúrese de tener todas las partes y la ferretería.
• Antes de empezar a ensamblar remueva todos los materiales de empaque, incluyendo grapas y cintas.
• No apriete todos los tornillos o pernos hasta haber ensamblado todas las piezas.
• Mantenga toda la ferretería fuera del alcance de los niños.
• Se recomienda que 2 personas realicen el ensamble.

PASO 2

PASO 1

C B

A

69603/69604/69985/69558/18220
69605/69606/69986/69559/18221

3 Juegos         2 pza         1 pza         4 pza        1 Juego              4 Juegos
2 Juegos         4 pza         2 pza         4 pza        1 Juego              4 Juegos

300 x 16 x 3 mm
Barra de metal LlavesTope ajustable

Tornillo M6*40
+ Arandela

Manija de metal 
con forma de concha 

de 96 mm Clip para archivo

18220/18221




